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Overview

The x 3 asked how can we say that the students of *R»w and 9277 were 213 on 2°7 as
one of the 127 n", when the Xn»12 states that Y971 "Rnw were 8?0 M3 on 2°7°. Our
MdoIN explains why we could not offer an alternate solution to this question.
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The X773 did not choose to answer that 997 5X%»®2 were 913 on 2°7° which become

XY on account of them touching a 5%, but not by 2%7° an®; that was the 771 of the
727 11" that even 27 QN0 are Xnv.

mooIn explains:
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For the expression in the &n>72 that '27°7 H¥ RN 1713 52 *XNY', was written
without qualification, which indicates that all 257> an® are xnu.

Summary
It is preferable to leave an unqualified statement as is without modifying it.

Thinking it over
99m1 Xnw lived before the 127 1" M. Previously? miooin taught that first they were

7M1 on a 7190 and then on 790 NN MX2T 7. We know that 790 was one of the 1™
727. How can ma0In attempt to say that 2771 "Rnw were 13 on 190 DA NIRAT 277,
when in the times of 99771 *Xnw there was no 77’12 on 190, so (as NMDOIN states®) X
AN DR 01 777 KD MY 990 10TV (D0 Namn MINAT) 270 DY 1w 1an?!

! The X723 on the beginning of this Ty stated 2°7° 112132 773 TN XW*I2 N1 (790 NAMA 27 DR™IY) 77 KPR, Let us say
that this Xw>12 7 refers to the 77013 of 99 *&nw. See ‘Thinking it over’.

2 A% 7" 70 K, 7.

3 Ibid. [TIE footnote # 5.]

4 See nax Now.
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